



Some Approximations with Hurwitz Zeta Function

Aykut Ahmet Aygunes^a

^aDepartment of Software Engineering, Faculty of Engineering and Architecture, Antalya Akev University, Turkey

Abstract. In this paper, we focus on some approximations with Hurwitz zeta function. By using these approximations, we present some asymptotic formulae related to Hurwitz zeta function. As an application, we give two corollaries related to Bernoulli polynomials.

1. Introduction, definitions and preliminaries

Throughout this article, \mathbb{N} denotes the set of natural numbers, \mathbb{R} denotes the set of real numbers and \mathbb{C} denotes the set of complex numbers.

Let $a, s \in \mathbb{C}$. Hurwitz zeta function and Riemann zeta function are respectively defined by (cf. [2], [8])

$$\zeta(s, w) = \sum_{n=0}^{\infty} \frac{1}{(n+w)^s}, \quad (\operatorname{Re}(s) > 1, w \in \mathbb{C} \setminus \{0, -1, -2, -3, \dots\})$$

and

$$\zeta(s) = \sum_{n=1}^{\infty} \frac{1}{n^s}, \quad (\operatorname{Re}(s) > 1).$$

For $w = 1$, $\zeta(s, 1) = \zeta(s)$. Also, Hurwitz zeta function and Riemann zeta function are related to Bernoulli polynomials.

Bernoulli polynomials are defined by the following generating function:

$$\frac{t}{e^t - 1} e^{at} = \sum_{n=0}^{\infty} B_n(a) \frac{t^n}{n!} \quad (\text{cf. [8], [10]})$$

where $a \in \mathbb{C}$, $|t| < 2\pi$.

Hurwitz zeta function, Riemann zeta function and Bernoulli polynomials are the famous special functions for Analytic Number Theory. Also, it is possible to investigate the approximation of these functions. The special functions and their approximations were considered by Luke (cf. [9]).

2010 *Mathematics Subject Classification.* 41A10, 57Q55, 11B68, 11M35

Keywords. Hurwitz zeta function; Riemann zeta function; Bernoulli polynomial.

Received: 19 January 2019; Revised: 20 April 2019; Accepted: 06 May 2019

Communicated by Yilmaz Simsek

Email address: aykutahmet1981@hotmail.com (Aykut Ahmet Aygunes)

In Section 2, we use

$$\lim_{n \rightarrow \infty} \left(1 + \frac{y}{n}\right)^n = e^y. \tag{1.1}$$

Also, (1.1) can be written by

$$\lim_{\lambda \rightarrow 0} (1 + \lambda y)^{\frac{1}{\lambda}} = e^y.$$

(1.1) is a well-known result in Classical Analysis. Many authors have used this result in Analytic Number Theory. For instance, Carlitz introduced the degenerate Bernoulli polynomials given by the generating function:

$$\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{a}{\lambda}} = \sum_{n=0}^{\infty} \beta_n(a | \lambda) \frac{t^n}{n!} \text{ (cf. [6], [7] and [5]).} \tag{1.2}$$

For $a = 0$, $\beta_n(0 | \lambda) = \beta_n(\lambda)$ are called the degenerate Bernoulli numbers. From (1.2), we note that

$$\lim_{\lambda \rightarrow 0} \beta_n(a | \lambda) = B_n(a) \text{ (} n \geq 0\text{)}.$$

2. Main Results

In this section, we give a key lemma to give our main results related to approximation of the Hurwitz zeta function. Let $k \in \mathbb{N}$ and $0 < y \in \mathbb{R}$.

We put $y \rightarrow ky$ in (1.1):

$$\lim_{n \rightarrow \infty} \left(1 + \frac{ky}{n}\right)^{-n} = e^{-ky}$$

Then, we expand the series on k :

$$\sum_{k=0}^{\infty} \left\{ \lim_{n \rightarrow \infty} \left(1 + \frac{ky}{n}\right)^{-n} \right\} = \sum_{k=0}^{\infty} e^{-ky}$$

or

$$\lim_{n \rightarrow \infty} \sum_{k=0}^{\infty} \left(1 + \frac{ky}{n}\right)^{-n} = \sum_{k=0}^{\infty} e^{-ky}$$

We set

$$\begin{aligned} \lim_{n \rightarrow \infty} \sum_{k=0}^{\infty} \left(1 + \frac{ky}{n}\right)^{-n} &= \lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-n} \sum_{k=0}^{\infty} \left(\frac{n}{y} + k\right)^{-n} \\ &= \lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-n} \zeta\left(n, \frac{n}{y}\right). \end{aligned}$$

From the property of geometric sum, we know

$$\frac{e^y}{e^y - 1} = \sum_{k=0}^{\infty} e^{-ky}.$$

Then, we arrive at the following Lemma:

Lemma 2.1.

$$\lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-n} \zeta\left(n, \frac{n}{y}\right) = \frac{e^y}{e^y - 1}. \tag{2.1}$$

Theorem 2.2.

$$\lim_{n \rightarrow \infty} \frac{(-1)^n \zeta\left(n, \frac{n}{y}\right)}{\zeta\left(n, -\frac{n}{y}\right)} = -e^y. \tag{2.2}$$

Proof. We put $y \rightarrow -y$ in (2.1):

$$\lim_{n \rightarrow \infty} \left(-\frac{y}{n}\right)^{-n} \zeta\left(n, -\frac{n}{y}\right) = -\frac{1}{e^y - 1}. \tag{2.3}$$

From (2.1) and (2.3), we obtain the desired result. \square

Theorem 2.3. Let $\lambda \in \mathbb{R}$. Then, we have

$$\lim_{n \rightarrow \infty} \frac{(-1)^{n+1} \zeta\left(n, \frac{n}{\lambda y}\right)}{\zeta\left(n, -\frac{n}{\lambda y}\right)} = \lim_{n \rightarrow \infty} \left(\frac{(-1)^{n+1} \zeta\left(n, \frac{n}{y}\right)}{\zeta\left(n, -\frac{n}{y}\right)} \right)^\lambda.$$

Proof. It is immediately seen from Theorem 2.2 for $y \rightarrow \lambda y$. \square

We note that

$$\begin{aligned} \frac{d}{dy} \zeta\left(n, \frac{n}{y}\right) &= \frac{d}{dy} \sum_{k=0}^{\infty} \frac{1}{\left(\frac{n}{y} + k\right)^n} \\ &= \sum_{k=0}^{\infty} \frac{d}{dy} \left\{ \frac{1}{\left(\frac{n}{y} + k\right)^n} \right\} \\ &= \frac{n^2}{y^2} \sum_{k=0}^{\infty} \frac{1}{\left(\frac{n}{y} + k\right)^{1+n}} \\ &= \frac{n^2}{y^2} \zeta\left(1 + n, \frac{n}{y}\right) \end{aligned}$$

and

$$\begin{aligned} \frac{d}{dy} \zeta\left(n, -\frac{n}{y}\right) &= \frac{d}{dy} \sum_{k=0}^{\infty} \frac{1}{\left(-\frac{n}{y} + k\right)^n} \\ &= \sum_{k=0}^{\infty} \frac{d}{dy} \left\{ \frac{1}{\left(-\frac{n}{y} + k\right)^n} \right\} \\ &= -\frac{n^2}{y^2} \sum_{k=0}^{\infty} \frac{1}{\left(-\frac{n}{y} + k\right)^{1+n}} \\ &= -\frac{n^2}{y^2} \zeta\left(1 + n, -\frac{n}{y}\right). \end{aligned}$$

Theorem 2.4.

$$\lim_{n \rightarrow \infty} \frac{(-1)^n \zeta\left(1 + n, \frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} = e^y. \tag{2.4}$$

Proof. We take the first derivative respect to y into (2.2):

$$\begin{aligned} & \lim_{n \rightarrow \infty} \frac{(-1)^n \left\{ \frac{n^2}{y^2} \zeta\left(1 + n, \frac{n}{y}\right) \zeta\left(n, -\frac{n}{y}\right) + \frac{n^2}{y^2} \zeta\left(1 + n, -\frac{n}{y}\right) \zeta\left(n, \frac{n}{y}\right) \right\}}{\left(\zeta\left(n, -\frac{n}{y}\right)\right)^2} \\ &= \left\{ \lim_{n \rightarrow \infty} \frac{n^2 (-1)^n \zeta\left(1 + n, \frac{n}{y}\right)}{y^2 \zeta\left(n, -\frac{n}{y}\right)} \right\} - e^y \left\{ \lim_{n \rightarrow \infty} \frac{n^2 \zeta\left(1 + n, -\frac{n}{y}\right)}{y^2 \zeta\left(n, -\frac{n}{y}\right)} \right\} \\ &= -e^y \end{aligned}$$

Therefore, we get

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{n^2 (-1)^n \zeta\left(1 + n, \frac{n}{y}\right)}{y^2 \zeta\left(n, -\frac{n}{y}\right)} &= e^y \left\{ -1 + \lim_{n \rightarrow \infty} \frac{n^2 \zeta\left(1 + n, -\frac{n}{y}\right)}{y^2 \zeta\left(n, -\frac{n}{y}\right)} \right\} \\ &= e^y \left\{ \lim_{n \rightarrow \infty} \frac{n^2}{y^2} \left(-\frac{y^2}{n^2} + \frac{\zeta\left(1 + n, -\frac{n}{y}\right)}{\zeta\left(n, -\frac{n}{y}\right)} \right) \right\}. \end{aligned}$$

Then, we obtain the desired result. \square

Theorem 2.5. Let $\lambda \in \mathbb{R}$. Then, we have

$$\lim_{n \rightarrow \infty} \frac{(-1)^n \zeta\left(1 + n, \frac{n}{\lambda y}\right)}{\zeta\left(1 + n, -\frac{n}{\lambda y}\right)} = \lim_{n \rightarrow \infty} \left(\frac{(-1)^n \zeta\left(1 + n, \frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} \right)^\lambda.$$

Proof. It is immediately seen from Theorem 2.4 for $y \rightarrow \lambda y$. \square

Theorem 2.6.

$$\lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-n} \left\{ \zeta\left(n, \frac{n}{y}\right) + (-1)^n \zeta\left(n, -\frac{n}{y}\right) \right\} = 1 \tag{2.5}$$

Proof. It is easily seen from (2.1) and (2.3). \square

Theorem 2.7. Let $\lambda \in \mathbb{R}$. Then, we have

$$\begin{aligned} & \lim_{n \rightarrow \infty} \left(\frac{\lambda y}{n}\right)^{-n} \left\{ \zeta\left(n, \frac{n}{\lambda y}\right) + (-1)^n \zeta\left(n, -\frac{n}{\lambda y}\right) \right\} \\ &= \lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-\lambda n} \left\{ \zeta\left(n, \frac{n}{y}\right) + (-1)^n \zeta\left(n, -\frac{n}{y}\right) \right\}^\lambda \\ &= \lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-n} \left\{ \zeta\left(n, \frac{n}{y}\right) + (-1)^n \zeta\left(n, -\frac{n}{y}\right) \right\}. \end{aligned}$$

Proof. It is easily seen from (2.5). \square

Theorem 2.8. Let $y > 0$. Then, we have

$$\lim_{n \rightarrow \infty} n^2 \left(\frac{y}{n}\right)^{-n} \left\{ \zeta\left(1+n, \frac{n}{y}\right) - (-1)^n \zeta\left(1+n, -\frac{n}{y}\right) \right\} = \infty. \tag{2.6}$$

Proof. We take the first derivative respect to y into (2.5):

$$\begin{aligned} & - \lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-1-n} \left\{ \zeta\left(n, \frac{n}{y}\right) + (-1)^n \zeta\left(n, -\frac{n}{y}\right) \right\} \\ & + \lim_{n \rightarrow \infty} \left(\frac{y}{n}\right)^{-n} \left\{ \frac{n^2}{y^2} \zeta\left(1+n, \frac{n}{y}\right) - (-1)^n \frac{n^2}{y^2} \zeta\left(1+n, -\frac{n}{y}\right) \right\} \\ & = 0. \end{aligned}$$

By using (2.5) into the above equation, we obtain the desired result. \square

Theorem 2.9. Let $\lambda, y > 0$. Then, we have

$$\begin{aligned} & \lim_{n \rightarrow \infty} n^2 \left(\frac{\lambda y}{n}\right)^{-n} \left\{ \zeta\left(1+n, \frac{n}{\lambda y}\right) - (-1)^n \zeta\left(1+n, -\frac{n}{\lambda y}\right) \right\} \\ & = \lim_{n \rightarrow \infty} n^{2\lambda} \left(\frac{y}{n}\right)^{-\lambda n} \left\{ \zeta\left(1+n, \frac{n}{y}\right) - (-1)^n \zeta\left(1+n, -\frac{n}{y}\right) \right\}^\lambda \\ & = \lim_{n \rightarrow \infty} n^2 \left(\frac{y}{n}\right)^{-n} \left\{ \zeta\left(1+n, \frac{n}{y}\right) - (-1)^n \zeta\left(1+n, -\frac{n}{y}\right) \right\}. \end{aligned}$$

Proof. It is easily seen from (2.6). \square

We note that

$$\begin{aligned} \frac{d}{dy} \zeta\left(1+n, \frac{n}{y}\right) &= \frac{d}{dy} \sum_{k=0}^{\infty} \frac{1}{\left(\frac{n}{y} + k\right)^{n+1}} \\ &= \sum_{k=0}^{\infty} \frac{d}{dy} \left\{ \frac{1}{\left(\frac{n}{y} + k\right)^{n+1}} \right\} \\ &= \frac{n(n+1)}{y^2} \sum_{k=0}^{\infty} \frac{1}{\left(\frac{n}{y} + k\right)^{2+n}} \\ &= \frac{n(n+1)}{y^2} \zeta\left(2+n, \frac{n}{y}\right) \end{aligned}$$

and

$$\begin{aligned} \frac{d}{dy} \zeta\left(1+n, -\frac{n}{y}\right) &= \frac{d}{dy} \sum_{k=0}^{\infty} \frac{1}{\left(-\frac{n}{y} + k\right)^{n+1}} \\ &= \sum_{k=0}^{\infty} \frac{d}{dy} \left\{ \frac{1}{\left(-\frac{n}{y} + k\right)^{n+1}} \right\} \\ &= -\frac{n(n+1)}{y^2} \sum_{k=0}^{\infty} \frac{1}{\left(-\frac{n}{y} + k\right)^{2+n}} \\ &= -\frac{n(n+1)}{y^2} \zeta\left(2+n, -\frac{n}{y}\right). \end{aligned}$$

Theorem 2.10.

$$\lim_{n \rightarrow \infty} \frac{(-1)^n \zeta\left(2 + n, \frac{n}{y}\right)}{\zeta\left(2 + n, -\frac{n}{y}\right)} = -e^y. \tag{2.7}$$

Proof. We take the first derivative respect to y into (2.4):

$$\begin{aligned} & \lim_{n \rightarrow \infty} \frac{(-1)^n \left\{ \frac{n(n+1)}{y^2} \zeta\left(2 + n, \frac{n}{y}\right) \zeta\left(1 + n, -\frac{n}{y}\right) + \frac{n(n+1)}{y^2} \zeta\left(2 + n, -\frac{n}{y}\right) \zeta\left(1 + n, \frac{n}{y}\right) \right\}}{\left(\zeta\left(1 + n, -\frac{n}{y}\right)\right)^2} \\ &= \left\{ \lim_{n \rightarrow \infty} \frac{n(n+1)(-1)^n}{y^2} \frac{\zeta\left(2 + n, \frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} \right\} + e^y \left\{ \lim_{n \rightarrow \infty} \frac{n(n+1)}{y^2} \frac{\zeta\left(2 + n, -\frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} \right\} \\ &= -e^y \end{aligned}$$

Therefore, we get

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{n(n+1)(-1)^n}{y^2} \frac{\zeta\left(2 + n, \frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} &= e^y \left\{ 1 - \lim_{n \rightarrow \infty} \frac{n(n+1)}{y^2} \frac{\zeta\left(2 + n, -\frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} \right\} \\ &= e^y \left\{ \lim_{n \rightarrow \infty} \frac{n(n+1)}{y^2} \left(\frac{y^2}{n(n+1)} - \frac{\zeta\left(2 + n, -\frac{n}{y}\right)}{\zeta\left(1 + n, -\frac{n}{y}\right)} \right) \right\}. \end{aligned}$$

Then, we obtain the desired result. \square

Theorem 2.11. Let $\lambda \in \mathbb{R}$. Then, we have

$$\lim_{n \rightarrow \infty} \frac{(-1)^{n+1} \zeta\left(2 + n, \frac{n}{\lambda y}\right)}{\zeta\left(2 + n, -\frac{n}{\lambda y}\right)} = \lim_{n \rightarrow \infty} \left(\frac{(-1)^{n+1} \zeta\left(2 + n, \frac{n}{y}\right)}{\zeta\left(2 + n, -\frac{n}{y}\right)} \right)^\lambda.$$

Proof. It is immediately seen from Theorem 2.10 for $y \rightarrow \lambda y$. \square

Theorem 2.12. Let $y > 0$. Then, we have

$$\lim_{n \rightarrow \infty} n^3(n+1) \left(\frac{y}{n}\right)^{-n} \left\{ \zeta\left(2 + n, \frac{n}{y}\right) + (-1)^n \zeta\left(2 + n, -\frac{n}{y}\right) \right\} = \infty. \tag{2.8}$$

Proof. We take the first derivative respect to y into (2.6):

$$\begin{aligned} & \lim_{n \rightarrow \infty} n^2 \left(\frac{y}{n}\right)^{-1-n} \left\{ -\zeta\left(1 + n, \frac{n}{y}\right) + (-1)^n \zeta\left(1 + n, -\frac{n}{y}\right) \right\} \\ &+ \lim_{n \rightarrow \infty} n^2 \left(\frac{y}{n}\right)^{-n} \left\{ \frac{n(n+1)}{y^2} \zeta\left(2 + n, \frac{n}{y}\right) + (-1)^n \frac{n(n+1)}{y^2} \zeta\left(2 + n, -\frac{n}{y}\right) \right\} = \infty. \end{aligned}$$

By using (2.6) into the above equation, we obtain the desired result. \square

Theorem 2.13. Let $\lambda, y > 0$. Then, we have

$$\begin{aligned} & \lim_{n \rightarrow \infty} n^3(n+1) \left(\frac{\lambda y}{n}\right)^{-n} \left\{ \zeta\left(2 + n, \frac{n}{\lambda y}\right) + (-1)^n \zeta\left(2 + n, -\frac{n}{\lambda y}\right) \right\} \\ &= \lim_{n \rightarrow \infty} (n^3(n+1))^\lambda \left(\frac{y}{n}\right)^{-\lambda n} \left\{ \zeta\left(2 + n, \frac{n}{y}\right) + (-1)^n \zeta\left(2 + n, -\frac{n}{y}\right) \right\}^\lambda \\ &= \lim_{n \rightarrow \infty} n^3(n+1) \left(\frac{y}{n}\right)^{-n} \left\{ \zeta\left(2 + n, \frac{n}{y}\right) + (-1)^n \zeta\left(2 + n, -\frac{n}{y}\right) \right\}. \end{aligned}$$

Proof. It is easily seen from (2.8). \square

3. Applications

Finally, we give some approximations related to Bernoulli polynomials, by using the following property:

$$\zeta(-n, a) = -\frac{B_{n+1}(a)}{n+1} \quad (\text{cf. [1], [3], [4], [8]}). \quad (3.1)$$

From (2.1), we set

$$\frac{e^y}{e^y - 1} = \lim_{n \rightarrow -\infty} \left(-\frac{y}{n}\right)^n \zeta\left(-n, -\frac{n}{y}\right). \quad (3.2)$$

Then, we choose $a = -n/y$ into (3.1):

$$\zeta\left(-n, -\frac{n}{y}\right) = -\frac{B_{n+1}\left(-\frac{n}{y}\right)}{n+1}. \quad (3.3)$$

By using (3.2) and (3.3), we arrive at the following corollary:

Corollary 3.1.

$$\lim_{n \rightarrow -\infty} \left(-\frac{y}{n}\right)^n \frac{B_{n+1}\left(-\frac{n}{y}\right)}{n+1} = \frac{e^y}{1 - e^y}. \quad (3.4)$$

Putting $y \rightarrow -y$ in (3.4), we have

$$\lim_{n \rightarrow -\infty} \left(\frac{y}{n}\right)^n \frac{B_{n+1}\left(\frac{n}{y}\right)}{n+1} = \frac{1}{e^y - 1}. \quad (3.5)$$

From (3.4) and (3.5), we arrive at the following corollary:

Corollary 3.2.

$$\lim_{n \rightarrow -\infty} \frac{(-1)^n B_{n+1}\left(-\frac{n}{y}\right)}{B_{n+1}\left(\frac{n}{y}\right)} = -e^y.$$

References

- [1] A. A. Aygunes and Y. Simsek, Remarks on interpolation function of higher order (h, q) -Bernoulli numbers, *Numer. Anal. Appl. Math.*, AIP Conference Proceedings, 1168, 61-64 (2009).
- [2] E. C. Titchmarsh, *The Theory of the Riemann-zeta function*, Oxford University (Clarendon) Press, Oxford and London, 1951; Second Edition (Revised by D. R. Heath-Brown), 1986.
- [3] H. M. Srivastava, J. Choi, *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001.
- [4] H. M. Srivastava, Some properties and results involving the zeta and associated functions, *Functional Analysis, Approximation and Computation* 7 (2), 89-133 (2015).
- [5] T. Kim, D. S. Kim, H-I. Kwon, Some identities relating to degenerate Bernoulli polynomials, *Filomat* 30:4, 905-912 (2016).
- [6] L. Carlitz, A degenerate Staudt-Clausen theorem, *Arch. Math. (Basel)* 7, 28-33 (1956).
- [7] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, *Utilitas Math.* 15, 51-88 (1979).
- [8] T. M. Apostol, *Introduction to Analytic Number Theory*, Springer-Verlag, New York, Heidelberg and Berlin, 1976.
- [9] Y. L. Luke, *The Special Functions and Their Approximations*, Academic Press, New York and London, 1969.
- [10] Y. Simsek, Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation function, *Adv. Stud. Contemp. Math.* 16, 251-278 (2008).